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3| 0%BHETHEHERIZBNT, MA—4, 8, 2)2MDARZ ML 1 = (3, 0, I FAF4EME £ &
T, £, MBI, 3, —D)EMIRY ML v = (=1, 3, 0) X FFREME mETE. Pe 0 LOSEL,
Qi m LOMETE. 0L %, s, 20T, AP=su, BO=tv *EFTeNCED.

(1) RZ ML OP, OQ DA% s, t % T Ee.
(2) 2L & mIZIEME BN L & T L
(3) RZRNVPQHERZ MV u, v OWAREE 5L %, SPBEUMQDMEME fib k.

G 5} = 67\*/17? = (~4,8.2)*+5(3,0.1) = (35~4,8,5+2)
-2 = 5
oa = oB*Ba= (10,3,-4)+t(-1,3,0)= (-t+i0,3t+3,-4)

@ M. P=Qride, Watwkiit,

364 = -t+10 - @ 2D, S=-b

§=3t+3 -~ @ @) 1= 2

S+ 92 = —-4_ -
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@ M &), pacoa-op = (Ft-3s+14, 315, =S=¢)

“PalUu S Pa-d=0F). -31-9s+42 -s-L=0
l0S+3t =36 @
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Pa Ly € PQ 7 =043) t+35-|4+qt-15=0

36 +10t =29 ---®

~ P(5,8.5), A(%,9 ,-4)
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